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EDUCATION — HONOURS
Paper : CC-10
(Inclusive Education)

Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

1. Answer any three questions :

(a) What is meant by inclusive society? Discuss the elements that are necessary for creating an

inclusive society.
(b) What is learning disability? Explain the specific problems of learning disabled children.
(¢) ‘Understanding of social inclusion increases full-participation in education’— Explain.

(d) Explain how mass-media is helpful for building an inclusive society.

2. Answer any five questions :
(a) Discuss the barriers of inclusive education.
(b) Write the classification of cerebral palsy.
(c) Mention the causes of auditory impairment in children.
(d) Briefly discuss the concept of gender and sexuality.
(e) Mention any five characteristics of multi-cultural society.

(f) Mention the reasons for social exclusion.

3. Answer any five questions :
(a) Write two differences between exclusion and inclusion.
(b) What do you mean by orthopaedic impairment?
(c) Write any two general causes of disability.
(d) What is autism?
(e) Write two objectives of inclusive society.

(f) What do you understand by barrier free environment?
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